ITL PUBLIC SCHOOL
Pre Periodic Test-1 (2025-26)

MATHEMATICS
DATE CLASS: IV Sec:
NAME Roll No:
SECTION-A
1 | Afactory produced different kind of toys in a month as given below:
Toys Number of toys produced
Cars 4600
Dolls
Blocks 2400
Puzzles

c) What is the total number of dolls and puzzles produced?

d) Arrange the number of toys produced in ascending order.

a) The number of dolls produced is 750 more than cars. Find the number of dolls produced?

b) The number of puzzles produced is 820 less than blocks. How many puzzles were produced?

2 a) Write the expanded form of 987,654

b) Write the numeral for - Four lakh fifty one thousand two hundred

c) Form smallest and greatest 6 digit number using the digits - 8,9,3,0,4,1

SECTION-B

3 | a) Fill in the blanks
i) 45000 - 1=
ii) 9999 + 1 =
iii) 456 + 78 =78 +

iv) The answer of subtraction is called

b) Guess Who am 1?

The digit at my ones place is 5.

My tens place digit is successor of ones place
My thousand place is sum of 5 and 3

My hundreds place is 7
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SECTION-C

a) Write in words keeping commas in mind.
i) 9,25,130
ii) 4,123,905

b) What is the difference between the place value and face value of 5 in the numeral 8,95,460

A train daily runs between Chandigarh and Goa and travels a distance of 210 Km. Look at the

figure and answer the following questions

People boarded: 230
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a) Find the number of people who got off the train at Mumbai.
b) How many passengers are on the train when it leaves Mumbai?
¢) Find the number of people who got off the train at Goa.

d) Were there more people on the train in Chandigarh or in Goa? How many more/less?
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